
6)  Given:  m∠ECD = 140o, m∠ABF = 40o 

      Prove:  𝐵𝐹⃗⃗⃗⃗  ⃗ || 𝐶𝐸⃗⃗⃗⃗  ⃗ 

 

  Statements     Reasons                                         . 

1) m∠ECD = 140o, m∠ABF = 40o   1) Given  

2) <ABF and <FBC are a linear pair   2) Def. of a Linear Pair 

3) <ABF and <FBC are supplementary   3) Linear Pair Postulate 

4) m<ABF + m<FBC = 180    4) Def. of Supp. Angles 

5) 40 + m<FBC = 180     5) Substitution Prop. Of = 

6) m<FBC = 140     6) Subtraction Prop. Of = 

7) m<FBC = m<ECD     7) Substitution Prop. Of = 

8) <FBC ≅ <ECD     8) Def. of Congruent Angles 

9) 𝐵𝐹⃗⃗⃗⃗  ⃗ || 𝐶𝐸⃗⃗⃗⃗  ⃗      9) Corresponding Angles Post. Converse 

 

7)  Given: r || s, ∠1 ≅ ∠3 

      Prove: p || q 

 

 

 

 

  Statements     Reasons                                         . 

1) r || s, ∠1 ≅ ∠3     1) Given 

2) ∠1 ≅ ∠2      2) Corresponding Angles Postulate 

3) ∠2 ≅ ∠3      3) Transitive Prop. Of Congruence  

4) p || q      4) Alt. Interior Angles thm. Converse 

 

 

8)  Given: 𝐴𝐵̅̅ ̅̅ || 𝐶𝐷̅̅ ̅̅ , ∠1 ≅ ∠3, ∠2 ≅ ∠4 

      Prove: 𝐴𝐷̅̅ ̅̅ || 𝐵𝐶̅̅ ̅̅  

 

 

  Statements     Reasons                                         . 

1) 𝐴𝐵̅̅ ̅̅ || 𝐶𝐷̅̅ ̅̅ , ∠1 ≅ ∠3, ∠2 ≅ ∠4   1) Given 

2) <1 and <2 are supplementary    2) Consecutive Int. Angles thm. 

3) m<1 + m<2 = 180     3) Def. of supplementary angles 

4) m<1 = m<3      4) Def. of Congruent Angles (from given) 

5) m<3 + m<2 = 180     5) Substitution Prop. Of = 

6) <3 and <2 are supplementary   6) Def. of supplementary angles 

7) 𝐴𝐷̅̅ ̅̅ || 𝐵𝐶̅̅ ̅̅       7) Consecutive Int. Angles thm. Converse 
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